' ENT INCOME HYPOTHESIS Prepared by L. C. DOLEY,Associate Professor
ent income hypothesis was profounded by Nobel prize wmnin; Economist , Mnum g

* But consumtion, according to Friedman, depends neither on absolute income or on relative inceme
but on permanent income,based on expected future income.T hus, he finds a relationship between e
consumption and permanent income.His hypothesis is then described as permanent income hypothesis g :
JIn PIH, the relatonship between permanent consumtion and permanent. _ Fr

i
income is shown. e ‘f

Friedman divides current measured income(income actually received) into two: permanent income
(Yp) and the transitory income(Yt).Thus,Y=Yp+Yt.Permanent income may be regarded as the mean
income,determined by the expected or anticipated income to be received over a long period of time.
On the otherhand, transitory income consists of unexpected or windfall rie or fall in income(e.g., income
received from lottery or race).Similariy, he distinguishes between permanent consumption(Cp) and
transitory consumption(Ct).Transitory consumption may be regarded as the unanticipated spending
(e.g.,unexpected illness).Thus, measured consumption is the sum of permanent and transitory
components of consumption.That is ,C=Cp+Ct.

Friedman’s basic agrument is that permanent consumption depends on permanent income.The
basic relationship of PIH is that permanent consumption is proportional to permanent income that
exhibits a fairly constant APC.That is, C=kYp where k is constant and equal to APC and MPC.

While reaching the above conclusion,Friedman assumes that there is no correlation between Yp and
Yt, between Yt and Ct and between Cp and Ct.That is RYt.Yp=RYt.Ct=RCt. Cp=0.

Since Yt is uncorrected with Yp, it then follows that a high or low transitory income.For the entire
group of households from all income groups transitory incomes would cancel each over out so that
average transitory income would be equal to zero.This is also true for transitory components of
consumption.Thus for all the families taken together the average transitory income and the average
transitory consumption are zero.That is, Yt=Ct=0, where Y and C are the average values. Now it follows
that Y=Yp and C=Cp.

Let us consider some families, rather than the average of all families,with above-average measured
incomes.This happens because these families had enjoyed unexpected incomes thereby making

transitory incomes positive and Yp<Y.Similarly,for a sample of families below-average measured
income transitory incomes become negative and Yp>Y.

uwmmm a position to resolve the apparent conflict betweenthe cmss-sectbn an
mn ﬁmo-uries data to show a stable permanent relationship between permanent e
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'mnstimption(i.e ,point A lying on the CSR) average measured income falls short of permane

*sz Now joining pomts A and B we obtain a cross-section consumption funct|on Iehelle
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